

https://doi.org/10.26637/MJM0601/0004

Stability for impulsive implicit Hadamard fractional differential equations

P. Karthikeyanl¹* and R.Arul²

Abstract

In this paper, we analyze the uniqueness and stability for implicit fractional differential equations with impulsive conditions involving the hadamard derivative of fractional order α . An illustrative example is also presented.

Keywords

Hadamard fractional derivative, Implicit Fractional Differential equations, Impulsive condition, UH (Ulam-Hyers) stability and generalized UH (Ulam-Hyers) stability.

AMS Subject Classification

34A09, 34A08, 37J25.

^{1,2} Department of Mathematics, Sri Vasavi college, Erode-638 136, Tamil Nadu, India.
 *Corresponding author: ¹ pkarthiksr@gmail.com; ²mathematicsarul@gmail.com
 Article History: Received 24 October 2017; Accepted 09 December 2017

Contents

| 1 | Introduction |
|-----|----------------|
| 2 | Preliminaries |
| 3 | Main Results29 |
| 4 | Example |
| 4.1 | Example 32 |
| 4.2 | Example |
| | References |

1. Introduction

In the last few decades, fractional differential equations (FDE's) have gained considerably more attention and attracted by many researchers in fields of such as physics, mechanics, chemistry, aerodynamics and the electrodynamics of complex media. Several papers are introduced many form of fractional differential equations and also discussed different results on existence and uniqueness for fractional differential equations, see [3, 6, 7, 10–12]. It comes from the fact that they have been proved to be valuable tools in the mathematical models for systems [13, 16, 17, 20].

They concerned the UH (Ulam-Hyers) stability and generalized UH (Ulam-Hyers) stability for a implicit fractional differential equations (IFDE's)with hadamard derivative [8, 9, 14, 15, 18, 19, 24, 25]. In 2010 Deliang Qian, Ranchao Wu and Yanfen Lu discussed the stability analysis of fractional differential system with Riemann-Liouville derivative to applying the Mittag-Leffler function and generalized Gronwall inequality.

©2017 MJM

Recently, H.L.Tidke and R.P.Mahajan [21] investigated the existence, uniqueness of nonlinear implicit fractional differential equations involving Riemann-Liouville derivative by Banach fixed point theorem. In [1] the authors S Abbas, W Albarakati, M Benchohra, JJ Trujillo have considered the Ulam Stabilities for partial hadamard fractional integral equations by appliqueing the Schauder's fixed-point theorem. The reader to refer the papers of Benchohra et al. [4, 5], S. Abbas, M. Benchohra et al. [2] and see [22, 23, 26, 27].

Motivated from recent research papers treating the varies derivatives for implicit fractional differential equations, here we study the existence of solutions for the implicit fractional order differential equations with Hadamard derivative and impulsive conditions of the form

$${}^{H}D^{\alpha}x(t) = f(t, x(t), {}^{H}D^{\alpha}x(t)),$$
(1.1)
$$t \in J' := J \setminus \{t_0, ..., t_m\}, J = [1, T], 0 < \alpha \le 1.$$

$$x(t_k^+) = x(t_k^-) + y_k, \ k = 1, 2, ..., m \quad y_k \in \mathbb{R}$$
(1.2)

$$x(1) = x_0,$$
 (1.3)

where ${}^{H}D^{\alpha}$ is the Hadamard fractional derivative, $f: J \times \mathbb{R} \times \mathbb{R} \to \mathbb{R}$ is a given function and $x_0 \in \mathbb{R}$ and t_k satisfy $1 = t_0 < t_1 < ... < t_m < t_{m+1} = T$.

In section 2 deals with definitions and basic results and in section 3, the existence and stability results of implicit impulsive hadamard fractional differential equations are studied. In section 4, an application is provided in support of main results.

2. Preliminaries

In this section the most commonly used basic definitions and results are stated.

Definition 2.1. *The fractional integral of order* $\alpha > 0$ *of a function* $y : (0, \infty) \rightarrow R$ *is given by*

$$I_{0+}^{\alpha}y(t) = \frac{1}{\Gamma(\alpha)}\int_0^t (t-s)^{\alpha-1}y(s)ds,$$

provided the right side is pointwise defined on $(0,\infty)$, where $\Gamma(\cdot)$ is the Gamma function.

Definition 2.2. *The fractional derivative of order* $\alpha > 0$ *of a function* $y : (0, \infty) \rightarrow R$ *is given by*

$$D_{0+}^{\alpha}y(t) = \frac{1}{\Gamma(n-\alpha)} \left(\frac{d}{dt}\right)^n \int_0^t \frac{y(s)}{(t-s)^{\alpha-n+1}} ds,$$

where $n = [\alpha] + 1$, provided the right side is pointwise defined on $(0, \infty)$.

Definition 2.3. *The Hadamard fractional integral of order q for a continuous function g is defined as*

$${}_HJ^qg(t) = \frac{1}{\Gamma(q)} \int_1^t \left(\log\frac{t}{s}\right)^{q-1} \frac{g(s)}{s} ds, \ q > 0.$$

Definition 2.4. *The Hadamard derivative of fractional order* q for a continuous function $g : [1, \infty) \to \mathbb{X}$ is defined as

$${}_{H}D^{q}g(t) = \frac{1}{\Gamma(n-q)} \left(t\frac{d}{dt}\right)^{n} \int_{1}^{t} \left(\log\frac{t}{s}\right)^{n-q-1} \frac{g(s)}{s} ds,$$
$$n-1 < q < n, \ n = [q] + 1,$$

where [q] denotes the integer part of the real number q and $\log(\cdot) = \log_{e}(\cdot)$.

Definition 2.5. The Problem (1.1) is UH (Ulam-Hyers) stable if $\exists a \varphi_M > 0$ such that for each $\varepsilon > 0$ and for each solution $x \in C(J, \mathbb{R})$ of the inequality $|{}^H D^{\alpha} x(t) - f(t, x(t), {}^H D^{\alpha} x(t))| \le \varepsilon, t \in J \exists a$ solution $y \in C(J, \mathbb{R})$ of the problem (1.1) with $|x(t) - y(t)| \le \varphi_M \varepsilon$.

Definition 2.6. The Problem (1.1) is Generalized UH (Ulam-Hyers) stable if $\exists a \ \varphi_M \in C(\mathbb{R}_+, \mathbb{R}_+)$ with $\varphi_M(0) = 0$, such that for each $\varepsilon > 0$ and for each solution $x \in C(J, \mathbb{R})$ of the inequality $|{}^H D^{\alpha} x(t) - f(t, x(t), {}^H D^{\alpha} x(t))| \le \varepsilon, t \in J \exists a$ solution $y \in C(J, \mathbb{R})$ of the problem (1.1) with $|x(t) - y(t)| \le \varphi_M(\varepsilon)$.

Clearly, UH (Ulam-Hyers) stable \Rightarrow Generalized UH (Ulam-Hyers) stable.

Definition 2.7. The Problem (1.1) is UHR (Ulam-Hyers-Rassias) stable with respect to $\zeta \in C(J, \mathbb{R})$ if $\exists a \varphi_M > 0$ such that for each $\varepsilon > 0$ and for each solution $x \in C(J, \mathbb{R})$ of the inequality $|{}^HD^{\alpha}x(t) - f(t, x(t), {}^HD^{\alpha}x(t))| \le \varepsilon \zeta(t), t \in J \exists$ a solution $y \in C(J, \mathbb{R})$ of the problem (1.1) with $|x(t) - y(t)| \le \varphi_M \varepsilon \zeta(t)$.

Definition 2.8. The Problem (1.1) is Generalized UHR (Ulam-Hyers-Rassias) stable with respect to $\zeta \in C(J, \mathbb{R})$ if $\exists a \varphi_{M,\zeta} > 0$ such that for each solution $x \in C(J, \mathbb{R})$ of the inequality $|^{H}D^{\alpha}x(t) - f(t,x(t), {}^{H}D^{\alpha}x(t))| \leq \zeta(t), t \in J \exists a \text{ solution}$ $y \in C(J, \mathbb{R})$ of the problem (1.1) with $|x(t) - y(t)| \leq \varphi_{M,\zeta}\zeta(t)$.

Here also clearly, UHR (Ulam-Hyers-Rassias) stable \Rightarrow Generalized UHR (Ulam-HyersRassias) stable.

Definition 2.9. The Mittag-Leffler type is defined by

$$E_{oldsymbol{lpha}}(z) = \sum_{k=0}^{\infty} rac{z^k}{\Gamma(lpha k+1)}, oldsymbol{lpha} \in \mathbb{C}, \mathbb{R}(oldsymbol{lpha}) > 0$$

and the general Mittag-Leffler type is defined by the series expansion

$$E_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + \beta)}, \alpha, \beta \in \mathbb{C}, \mathbb{R}(\alpha) > 0, \mathbb{R}(\beta) > 0$$

The simple generalization of the exponent functions

$$E_{\alpha,1}(z) = E_{\alpha}(z)$$

$$E_{1}(z) = E_{1,1}(z) = e^{z}$$

$$E_{2}(z) = \cosh\sqrt{z} \quad and \quad E_{2}(-z^{2}) = \cos z \quad (Cosine \ Function)$$

Lemma 2.10. If

$$u(t) \le a(t) + b(t) \int_1^t \left(\log \frac{t}{s}\right)^{\alpha - 1} \frac{u(s)}{s} ds \quad \text{for any} \quad t \in [1, T]$$

where all the functions are not negative and continuous. The constant $\alpha > 0, b$ is a bounded and monotonic increasing function on [1,T], then

$$u(t) \le a(t) + \int_1^t \left(\sum_{n=1}^\infty \frac{(b(t)\Gamma(\alpha))^n}{\Gamma(n\alpha)} \left(\log \frac{t}{s} \right)^{n\alpha-1} a(s) \right) \frac{ds}{s}$$

3. Main Results

The formula of solutions for equation (1.1) - (1.3) should be

$$x(t) = \begin{cases} f\left(t, x_{0} + \frac{1}{\Gamma(\alpha)} \int_{1}^{t} (\log \frac{t}{s})^{\alpha - 1} x(s) \frac{ds}{s}, x(t)\right) \text{ for } t \in (1, t_{1}] \\ f\left(t, x_{0} + y_{1} + \frac{1}{\Gamma(\alpha)} \int_{1}^{t} (\log \frac{t}{s})^{\alpha - 1} x(s) \frac{ds}{s}, x(t)\right) \text{ for } t \in (t_{1}, t_{2}] \\ \vdots \\ f\left(t, x_{0} + \sum_{i=1}^{m} y_{i} + \frac{1}{\Gamma(\alpha)} \int_{1}^{t} (\log \frac{t}{s})^{\alpha - 1} x(s) \frac{ds}{s}, x(t)\right) \\ \text{ for } t \in (t_{m}, T] \end{cases}$$

$$(3.1)$$

Let a function $f(t, u, v) : J \times \mathbb{R} \times \mathbb{R} \to \mathbb{R}$, *w* are continuous.

$$x(t) = x_0 + \sum_{i=1}^m y_i +_H I^{\alpha} g(t) \quad \text{for } t \in J = [1, T] \quad (3.2)$$

where $g \in C(J, \mathbb{R})$ satisfies the functional equation

$$g(t) = f(t, x_0 + \sum_{i=1}^m y_i +_H I^{\alpha} g(t), g(t)) \text{ and}$$

$${}_H I^{\alpha} g(t) = \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} g(s) \frac{ds}{s}.$$

To prove the main result we need the following assumptions :

 (A_1) The function $f: J \times \mathbb{R} \times \mathbb{R} \to \mathbb{R}$, *w* are continuous.

 (\mathbb{A}_2) There exist constants $\mathbb{K}_1 > 0$ and $0 < \mathbb{K}_2 < 1$ such that

$$||f(t,u_1,v_1) - f(t,u_2,v_2)|| \le K_1 ||u_1 - u_2|| + K_2 ||v_1 - v_2||$$

for any $u_1, u_2, v_1 \& v_2 \in \mathbb{X}$ and $t \in J$.

(A₃) The function $\zeta \in C(J,\mathbb{R})$ is increasing and there exists $\lambda_{\zeta} > 0$ such that $I^{\alpha}\zeta(t) \leq \lambda_{\zeta}\zeta(t), t \in J$

Theorem 3.1. Assume the $(A_1) - (A_2)$ are holds. If

$$\sum_{i=1}^{m} y_i + \frac{K_1 (\log T)^{\alpha}}{\Gamma(\alpha+1)} + K_2 < 1$$
(3.3)

then there exists a unique solution of the problem (1.1) - (1.3) on J

Proof. Define the operator $M : C(J, \mathbb{R}) \times \mathbb{R} \to C(J, \mathbb{R})$.

$$(Mx)(t) = f\left(t, x_0 + \sum_{i=1}^m y_i + \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} x(s) \frac{ds}{s}, x(t)\right)$$
for $t \in J$ (3.4)

Let $w_1, w_2 \in C(J, \mathbb{R})$, we have

$$\begin{split} |(Mw_1)(t) - (Mw_2)(t)| \\ &\leq \sum_{i=1}^m |y_i| + \frac{k_1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} |w_1(s) - w_2(s)| \frac{ds}{s} \\ &+ k_2 |w_1(t) - w_2(t)| \\ &\leq \sum_{i=1}^m |y_i| + \left(\frac{k_1}{\Gamma(\alpha)} \int_1^t (\log t)^{\alpha - 1} \frac{ds}{s} + k_2\right) ||w_1 - w_2||_{\infty} \\ &\leq \sum_{i=1}^m |y_i| + \left(\frac{k_1 (\log T)^{\alpha}}{\Gamma(\alpha + 1)} + k_2\right) ||w_1 - w_2||_{\infty} \end{split}$$

by (3.3), the operator *M* is a contraction.

By using the lemma 9 in [5], If ${}^{H}D^{\alpha}y(t) = g(t)$ then ${}_{H}I^{\alpha} \left({}^{H}D^{\alpha}y(t) \right) =_{H}I^{\alpha}g(t)$ so we have $y(t) = y_{0} +_{H}I^{\alpha}g(t)$. Hence, by Banach contraction principle *M* has a unique fixed point which is a unique solution of the problem (1.1).

Theorem 3.2. Assume the $(A_1) - (A_2)$, and equation (3.3) are holds. Then the problem (1.1) is UH (Ulam-Hyers) stable.

Proof. Let us $x \in C(J, \mathbb{R})$ of the inequality

$${}^{H}D^{\alpha}x(t) - f(t, x(t), {}^{H}D^{\alpha}x(t))| \le \varepsilon, t \in J$$
(3.5)

Denoted by $y \in C(J, \mathbb{R})$ the unique solution of the problem

By lemma 9 in [5], we obtain

$$y(t) = x_0 + \sum_{i=1}^m y_i + \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} g_y(s) \frac{ds}{s}$$

where $g_y \in C(J, \mathbb{R})$ satisfies the functional equation $g_y(t) = f(t, y_0 + \sum_{j=1}^{m} y_j + H I^{\alpha} g_y(t), g_y(t))$ and

$${}_{H}I^{\alpha}g_{y}(t) = \frac{1}{\Gamma(\alpha)}\int_{1}^{t}(\log\frac{t}{s})^{\alpha-1}g_{y}(s)\frac{ds}{s}, \text{ we get}$$

$$|x(t) - x_0 - \sum_{i=1}^m y_i - \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} g_x(s) \frac{ds}{s}|$$

$$\leq G - \sum_{i=1}^m |y_i| + \frac{\varepsilon (\log T)^{\alpha}}{\Gamma(\alpha + 1)}$$
(3.6)

where $g_x \in C(J, \mathbb{R})$ satisfies the functional equation $g_x(t) = f(t, x_0 + \sum_{i=1}^m y_i +_H I^{\alpha} g_x(t), g_x(t))$ and $_H I^{\alpha} g_x(t) = \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha-1} g_x(s) \frac{ds}{s}$. For $t \in J$, we have

$$\begin{aligned} |(x(t) - y(t)| &= |x(t) - x_0 - \sum_{i=1}^m y_i - \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} g_x(s) \frac{ds}{s} \\ &+ \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} |(g_x(s) - g_y(s))| \frac{ds}{s}| \end{aligned}$$

where

$$g_x(t) = f(t, x(t), g_x(t)),$$

 $g_y(t) = f(t, y(t), g_y(t)),$

By (A_2) we have

$$\begin{aligned} |g_x(t) - g_y(t)| &= |f(t, x(t), g_x(t)) - f(t, y(t), g_y(t))| \\ &\leq K_1 |x(t) - y(t)| + K_2 |g_x(t) - g_y(t)| \\ &\leq \frac{K_1}{1 - K_2} |x(t) - y(t)| \end{aligned}$$

Therefore

$$\begin{split} |(x(t) - y(t)| \\ &= \sum_{i=1}^{m} |y_i| + \frac{\varepsilon(\log T)^{\alpha}}{\Gamma(\alpha + 1)} \\ &+ \frac{K_1}{(1 - K_2)\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} |(g_x(s) - g_y(s))| \frac{ds}{s} \\ &\leq \sum_{i=1}^{m} |y_i| + \frac{\varepsilon(\log T)^{\alpha}}{\Gamma(\alpha + 1)} \int_1^t \left(\sum_{i=1}^{\infty} \left(\frac{K_1}{1 - K_2}\right)^i \\ &\frac{1}{\Gamma(i\alpha)} (\log \frac{t}{s})^{i\alpha - 1} \frac{\varepsilon(\log T)^{\alpha}}{\Gamma(\alpha + 1)} \right) \frac{ds}{s} \\ &\leq \sum_{i=1}^{m} |y_i| + \frac{\varepsilon(\log T)^{\alpha}}{\Gamma(\alpha + 1)} \\ &+ \left(1 + \sum_{i=1}^{\infty} \left(\frac{K_1}{1 - K_2}\right)^i \frac{1}{\Gamma(i\alpha)} \frac{(\log T)^{i\alpha}}{i\alpha} \right) \\ &\leq \sum_{i=1}^{m} |y_i| + \frac{\varepsilon(\log T)^{\alpha}}{\Gamma(\alpha + 1)} \\ &+ \left(1 + \sum_{i=1}^{\infty} \left(\frac{K_1}{1 - K_2}\right)^i \frac{(\log T)^{i\alpha}}{\Gamma(i\alpha + 1)} \right) \\ &\leq \sum_{i=1}^{m} |y_i| + \frac{\varepsilon(\log T)^{\alpha}}{\Gamma(\alpha + 1)} \\ &+ \left(1 + \sum_{i=1}^{\infty} \left(\frac{K_1(\log T)^{\alpha}}{(1 - K_2)\Gamma(i\alpha + 1)}\right)^i \right) \\ &\leq \sum_{i=1}^{m} |y_i| + \frac{\varepsilon(\log T)^{\alpha}}{\Gamma(\alpha + 1)} + E_{\alpha} \left(\frac{K_1}{1 - K_2} (\log T)^{\alpha} \right) \end{split}$$

Therefore

$$\begin{aligned} |(x(t) - y(t)| &\leq \sum_{i=1}^{m} |y_i| + \frac{\varepsilon(\log T)^{\alpha}}{\Gamma(\alpha + 1)} \\ &+ E_{\alpha} \left(\frac{K_1}{1 - K_2} (\log T)^{\alpha} \right) := \varphi_M \varepsilon \end{aligned}$$
(3.7)

So, the problem (1.1) is UH (Ulam-Hyers) stable. By Putting $\varphi(\varepsilon) = \varphi \varepsilon, \varphi(0) = 0$ yields that the problem (1.1) is generalized UH (Ulam-Hyers) stable.

Theorem 3.3. Assume that $(A_1), (A_2)$ and (A_3) are holds. Then the problem (1.1) is UHR stable.

Proof. Let
$$z \in C(J, \mathbb{R})$$
.

$$|{}^{H}D^{\alpha}y(t) - f(t, y(t), {}^{H}D^{\alpha}y(t))| \le \varepsilon \zeta(t), t \in J$$
(3.8)

Let $x \in C(J, \mathbb{R})$ the unique solution of the problem (1.1).

we have

$$x(t) = y(0) + \sum_{i=1}^{m} y_i +_H I^{\alpha} g_x(t)$$
(3.9)

where $g_x \in C(J, \mathbb{R})$ satisfies the functional equation $g_x(t) = f(t, x(0) + \sum_{i=1}^m y_i +_H I^{\alpha} g_x(t), g_x(t))$ and $_H I^{\alpha} g_x(t) = \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha-1} g_x(s) \frac{ds}{s}$. then we have

$$|y(t) - y(0) - \sum_{i=1}^{m} y_i - \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} g_y(s) \frac{ds}{s}|$$

$$\leq \sum_{i=1}^{m} y_i + \frac{\varepsilon}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} \zeta(s) ds$$

$$\leq \sum_{i=1}^{m} y_i + \varepsilon \lambda_{\zeta} \zeta(t)$$
(3.10)

where $g_y \in C(J, \mathbb{R})$ satisfies the functional equation $g_y(t) = f(t, y(0) + \sum_{i=1}^m y_i +_H I^{\alpha} g_y(t), g_y(t))$ and $_H I^{\alpha} g_y(t) = \frac{1}{\Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} g_y(s) \frac{ds}{s}$. we have

$$\begin{aligned} |y(t) - x(t)| \\ &= |y(t) - y(0) - \sum_{i=1}^{m} y_i - \frac{1}{\Gamma(\alpha)} \int_{1}^{t} (\log \frac{t}{s})^{\alpha - 1} g_x(s) \frac{ds}{s}| \\ &= |y(t) - y(0) - \sum_{i=1}^{m} y_i - \frac{1}{\Gamma(\alpha)} \int_{1}^{t} (\log \frac{t}{s})^{\alpha - 1} g_y(s) \frac{ds}{s} \\ &+ \frac{1}{\Gamma(\alpha)} \int_{1}^{t} (\log \frac{t}{s})^{\alpha - 1} (g_y(s) - g_x(s)) \frac{ds}{s}| \\ &\leq |y(t) - y(0) - \sum_{i=1}^{m} y_i - \frac{1}{\Gamma(\alpha)} \int_{1}^{t} (\log \frac{t}{s})^{\alpha - 1} g_y(s) \frac{ds}{s}| \\ &+ \frac{1}{\Gamma(\alpha)} \int_{1}^{t} (\log \frac{t}{s})^{\alpha - 1} (|g_y(s) - g_x(s)|) \frac{ds}{s} \quad (3.11) \end{aligned}$$

where

$$g_x(t) = f(t, x(t), g_x(t)),$$

$$g_y(t) = f(t, y(t), g_y(t)),$$

By (A_2) we have

$$\begin{aligned} |g_x(t) - g_y(t)| &= |f(t, x(t), g_x(t)) - f(t, y(t), g_y(t))| \\ &\leq K_1 |x(t) - y(t)| + K_2 |g_x(t) - g_y(t)| \\ &\leq \frac{K_1}{1 - K_2} |x(t) - y(t)| \end{aligned}$$



$$\begin{aligned} |y(t) - x(t)| \\ &\leq \sum_{i=1}^{m} y_i + \varepsilon \lambda_{\zeta} \zeta(t) \\ &+ \frac{K_1}{(1 - K_2) \Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} |x(s) - y(s)| \frac{ds}{s} \\ &\leq \sum_{i=1}^{m} y_i + \varepsilon \lambda_{\zeta} \zeta(t) \\ &+ \frac{K_1 ||y - x||_{\infty}}{(1 - K_2) \Gamma(\alpha)} \int_1^t (\log \frac{t}{s})^{\alpha - 1} \zeta(s) \frac{ds}{s} \tag{3.12} \\ &\leq \sum_{i=1}^{m} y_i + \varepsilon \lambda_{\zeta} \zeta(t) + \frac{K_1 (\log T)^{\alpha} \varepsilon \lambda_{\zeta}^2 \zeta(t)}{(1 - K_2) \Gamma(\alpha + 1)} \\ &= \sum_{i=1}^{m} y_i + \left[1 + \frac{K_1 (\log T)^{\alpha} \varepsilon \lambda_{\zeta}}{(1 - K_2) \Gamma(\alpha + 1)} \right] \varepsilon \lambda_{\zeta} \zeta(t) \end{aligned}$$

$$||y(t) - x(t)||_{\infty} \left(\sum_{i=1}^{m} y_{i} + \left[\left\{ 1 + \frac{K_{1}(\log T)^{\alpha} \varepsilon \lambda_{\zeta}}{(1 - K_{2})\Gamma(\alpha + 1)} \right\} \lambda_{\zeta} \right] \right) \leq \varepsilon \lambda_{\zeta} \zeta(t)$$
(3.13)

Then the equation becomes,

$$||y(t) - x(t)||_{\infty} \leq \frac{\varepsilon \lambda_{\zeta} \zeta(t)}{\left(\sum_{i=1}^{m} y_i + \left[\left\{1 + \frac{K_1 (\log T)^{\alpha} \varepsilon \lambda_{\zeta}}{(1 - K_2)\Gamma(\alpha + 1)}\right\} \lambda_{\zeta}\right]\right)}$$

$$|y(t) - x(t)| \leq \left(\sum_{i=1}^{m} y_i + \left[\left\{1\right. + \frac{K_1(\log T)^{\alpha} \varepsilon \lambda_{\zeta}}{(1 - K_2)\Gamma(\alpha + 1)}\right\} \lambda_{\zeta}\right]\right)^{-1} \varepsilon \lambda_{\zeta} \zeta(t) := \varphi_M \varepsilon \zeta(t)$$
(3.14)

then the problem (1.1) is UHR stable.

4. Example

4.1 Example

Consider the implicit fractional order differential equations with Hadamard derivative and impulsive conditions of the form

$${}^{H}D^{\frac{1}{2}}x(t) = \frac{1}{10} \left(\frac{1}{1 + |x(t)| + |^{H}D^{\frac{1}{2}}x(t)|} \right),$$
(4.1)

$$t \in J' := J \setminus \{t_0, \dots, t_m\}, J = [1, T], 0 < \alpha \le 1.$$

$$x(t_k^+) = x(t_k^-) + \frac{1}{6}, \ k = 1, 2, ..., m$$
(4.2)

$$x(1) = 1,$$
 (4.3)

where $f(t, x(t))^H D^{\alpha} x(t) = \frac{1}{10} \left(\frac{1}{1 + |x(t)| + |^H D^{\alpha} x(t)|} \right)$ For any $u_1, u_2, v_1, v_2 \in \mathbb{R}$

$$|f(t, u_1, v_1) - f(t, u_2, v_2)| \le \frac{1}{10} (|u_1 - u_2| + |v_1 - v_2|)$$

Hence the assumptions (A_2) is satisfied with $K_1 = K_2 = \frac{1}{10}$

$$\sum_{i=1}^{m} y_i + \frac{K_1(\log T)^{\alpha}}{(1-K_2)\Gamma(\alpha+1)} = \frac{2}{9\sqrt{\pi}} < 1$$

Then by theorem 3.1 and UH (Ulam-Hyers) stable from theorem 3.2 the equation (4.1)-(4.3) as unique solution.

4.2 Example

x(

Consider the implicit impulsive fractional order differential equations with Hadamard derivative of the form

$${}^{H}D^{\frac{3}{2}}x(t) = \frac{1}{10} \left(\frac{1}{1 + |x(t)| + |^{H}D^{\frac{3}{2}}x(t)|} \right),$$
(4.4)
$$t \in J' := J \setminus \{t_0, \dots, t_m\}, J = [1, T], 0 < \alpha < 1$$

$$x(t_k^+) = x(t_k^-) + \frac{1}{6}, \ k = 1, 2, 3, ..., m$$
 (4.5)

$$1) = x_0, \tag{4.6}$$

where $f(t, x(t))^H D^{\alpha} x(t) = \frac{1}{10} \left(\frac{1}{1 + |x(t)| + |^H D^{\alpha} x(t)|} \right)$ For any $u_1, v_1, u_2, v_2 \in \mathbb{R}$

$$|[f(t, u_1, v_1) - f(t, u_2, v_2)]| \le \frac{1}{12} (|u_1 - u_2| + |v_1 - v_2|)$$

Hence A_2 is satisfied with $K_1 = K_2 = \frac{1}{12}$. Let $\varphi(t) = (\log t)^{\frac{3}{2}}$.

$$\begin{split} {}_{H}I^{\alpha}\varphi(t) &= \frac{1}{\Gamma(\frac{3}{2})}\int_{1}^{t}(\log\frac{t}{s})^{\frac{3}{2}-1}(\log t)^{\frac{3}{2}}\frac{ds}{s}\\ &\leq \frac{2}{\sqrt{\pi}}\int_{1}^{t}(\log\frac{t}{s})^{\frac{3}{2}-1}\frac{ds}{s}\\ &\leq \frac{4\omega(t)}{\sqrt{\pi}}\\ {}_{H}I^{\alpha}\varphi(t) &\leq \frac{4}{\sqrt{\pi}}(\log t)^{\frac{3}{2}} = \lambda_{\varphi}\varphi(t) \end{split}$$

Thus the condition (A_3) is satisfied with $\varphi(t) = (\log t)^{\frac{3}{2}}$ and $\lambda_{\varphi} = \frac{4}{\sqrt{\pi}}$ it follows, from theorem 3.1 and UHR stable from theorem 3.3, the (4.4)-(4.6) has a unique solution.

References

- [1] S Abbas, W Albarakati, M Benchohra, JJ Trujillo, Ulam Stabilities for Partial Hadamard Fractional Integral Equations, *Arabian Journal of Mathematics*, 2016, 5(1), 1-7.
- ^[2] S. Abbas, M. Benchohra, J-E. Lazreg, Y. Zhou, A survey on Hadamard and Hilfer fractional differential equations: Analysis and stability, *Nonlinear Science, and Nonequilibrium and Complex Phenomena*, 2017, 1–25.



- [3] S. Abbas, M. Benchohra, GM. N'Guérékata, Topics in fractional differential equations. *New York: Springer*; 2012.
- [4] M. Benchohra and J. E. Lazreg, Exsitence and Ulam stability for nonlinear implicit fractional differential equations with Hadamard derivative, *Studia Universitatis Babes-Bolyai Mathematica*, 62, 2017, 27-38.
- [5] M. Benchohra and J. E. Lazreg, Exsitence results for nonlinear implicit fractional differential equations, *Surveys in mathematics and its applications*, volume 9,2014, 79-92.
- [6] TD. Benavides An existence theorem for implicit differential equations in a Banach space. Ann Mat Pura Appl 4, 1978, 119-130.
- [7] A. Chauhan, J. Dabas, Fractional order Impulsive functional differential equations with nonlocal initial conditions, *Electron. J. Differ. Equ.*, 2011, 10 pages.
- [8] A. Granas, J. Dugundji, Fixed Point Theory, Springer, New York 2003.
- ^[9] D.H. Hyers, On the stability of the linear functional equation, *Proc. Natl. Acad. Sci.* 27, 1941, 222-224.
- ^[10] A.A Kilbas, Hadamard-type fractional calculus. *J Korean Math Soc* 38(6), 2001, 1191-204.
- [11] P. Karthikeyan and R. Arul, On the Existence of Solutions of Impulsive Fractional IntegroDifferential Equations, *International Journal Of Mathematics And Scientific Computing*, Vol. 2, No. 2,2012, 64-71.
- [12] A.A. Kilbas, H.M. Srivastava, J.J. Trujillo, Theory and Applications of Fractional Differential Equations, *Elsevier, Amsterdam*, 2006
- [13] V. Lakshmikantham, D. D. Bainov and P. S. Simeonov; Theory of Impulsive Differntial Equations, *Worlds Scientific*, Singapore, 1989.
- [14] C. Li,F. Zhang, A survey on the stability of fractional differential equations. *Eur. Phys. J. Spec. Top.* 193(1),2011, 27–47.
- [15] J.J Nieto, A. Ouahab, V. Venktesh, Implicit fractional differential equations via the Liouville-Caputo derivative, Mathematics, vol. 3, 2015, pp. 398-411.
- ^[16] K. B. Oldham and J. Spanier; The Fractional Calculus, *Academic Press, New York*, London, 1974.
- [17] I. Podlubny, Fractional Differential Equation, Academic Press, San Diego, 1999.
- [18] Th.M. Rassias, On the stability of linear mappings in Banach spaces, *Proc. Amer. Math. Soc.* 72 (1978) 297-300.
- ^[19] IA. Rus, Ulam stability of ordinary differential equations. *Stud. Univ. Babes Bolyai, Math.* LIV(4),2009, 125-133.
- ^[20] A. M. Samoilenko, N. A. Perestyuk; Impulsive Differential Equations, *World Scientific, Singapore*, 1995.
- [21] H.L.Tidke, R.P.Mahajan, Existence and uniqueness of nonlinear implicit fractional differential equations with Riemann-Liouville derivative, *American Journal of computational and applied mathematics* 7(2), 2017, 46-50.
- ^[22] J. Wang, M. Feckan, Y. Zhou, Ulam's type stability of impulsive ordinary differential equations, *J Math Anal*

Appl, 2012, 395:258-64.

- [23] J. Wang, M. Feckan, Y. Zhou, Nonlinear impulsive problems for fractional differential equations and Ulam stability, *Comp Math Appl*, 64, 2012, 3389–405.
- J-R Wang,X. Li, A uniform method to Ulam-Hyers stability for some linear fractional equations. *Mediterr. J. Math.* 13, 2016 625-635.
- [25] J. R Wang, Z. Lin, Y. Zhou, On the stability of new impulsive ordinary differential equations. *Topol. Methods Nonlinear Anal.* 46,2015, 303-314.
- [26] J. Wang, L. Lv, Y. Zhou, New concepts and results in stability of fractional differential equations, *Commun. Nonlinear Sci. Numer. Simul.* 17, 2012, 2530-2538.
- [27] Y. Zhou, Basic theory of fractional differential equations. Singapore: World Sci- entific, 2014.

******** ISSN(P):2319 – 3786 Malaya Journal of Matematik ISSN(O):2321 – 5666 ********

